f Drawing Title:

Drawing No:
ENGLISH PARK SIGN SCD-719
w/ ADDRESS
\
1219 [ ] [ ]
203 / ° ’ \
- ke Park
—e = Name
s Park ] [
- Name O O Park Address @

68

227
Y
Q
=
=
>
Q.
Q
=
4]
A
)

METAL SLAT WR:

Black Finish: Product # 52501063BLK
Galvanized Finish: Product # 52501063GLV

WIRE BASKET:

Black Finish: Product # 52501058
Galvanized Finish: Product # 52501058GLV

Drawing Title

WASTE RECEPTACLE
SIDE OPENING METAL SLAT TYPE

Drawing No:

SCD-119

TO TAKE PADLOCK

500

BACK ELEVATION 460 S
g NOTE;
8 FASTENERS 304 GRADE 1.) DURING ASSEMBLY PROCEDURE;
g| - OF STAINLESS STEEL o DO NOT COMPLETELY TIGHTEN HARDWARE.
” o 8 2.) THE ACTUAL PARTS WILL NOT BE NUMBERED:
89 x 89mm POSTS i & NUMBERS ONLY APPLY TO DRAWING.
PRESSURE TREATED Mo 3.) SEE SPEC. SHEET 1 FOR MOUNTING OPTION.
4.) TABLE TOP SHIPPED FULLY ASSEMBLED. DETAIL A
AUGER 203 mm HOLE, AREA o —] .
— \%\\ " SR AROUND POST MUST BE 000 O 0O H0l-o SIEE_L SIEP 3
S \ 5% BACKFILLED AND WIRE BASKET By iy Wy B L RAERYE o USE 2 — PCS. SEAT SUPPORT FOR SURFACE MOUNT (2) UPON COMPLETION OF SEAT & TABLE ASSEMBLY SQUARE
4 ¢ “TH THOROUGHLY TAMPED TO 12 = PCS. 3" X 4" X 20" PLASTIC SEAT SLAT ( 3 ) ALL COMPONENTS THEN TIGHTEN ALL HARDWARE.
\\ : H\ FINISHED GRADE WITH 6mm 2XALLAN o 24 — PCS. 3/8" X 2" SS. BIN. SKT. HD. LAG SCR. ( 6 )
\\q ¢ “’\ gg‘L’J‘g\‘HED L IMESTONE soRevis- 24 — PCS. 3/8" SS. FLAT WASHER ( 9 ) STEP 4
. S RN SIDE ELEVATION 19mm long ATTACH 3" X 4” X 20" PLASTIC SEAT SLATS ( 3 ) TO SEAT MOUNT AND ANCHOR AS SPECIFIED.
@ ARSI O q NOTE FOR BLACK FINISH: (112" x 3/4")
o N .
q SUPPORT FOR SURFACE MOUNT ( 2 ) USING HARDWARE ( 6 & 9 )
) MF I (DOUBLE SIDED VERSION ONLY) S TIGHTEN TO SNUG FIT. REPEAT UNTIL ALL SLATS ARE ATTACHED
L B - POWDERCOATED - METAL SUITABLY = / / =~ 5tmm . .
R ‘ “'\ NOTE: CLEANED TO REMOVE ANY GREASE, WAX, = /i-— -1 [“--—)D.sTD
ST S + IF POSTS ARE COMPOSED OF ACQ PRESSURE ETC. FOR PROPER PAIN BONDING TO et e aPIPE o SIEP 2:
g Cq\ 4 I \ TREATED WOOD, STAINLESS STEEL BOLTS MUST OCCUR. BASE COAT ZINC RICH PRIMER. METAL SLAT WR \\ c - ,l\ 8 USE 1 PC. TABLE SUPPORT FOR SURFACE MOUNT ( 1) o | o PART NO DESCRITION
R . |
k SN s \ BE USED. e eyt AL THICKNESS OF PAINT ) k - S 1 PC. TABLE TOP ASSEMBLY W/ CHECKERBOARD ( 4 ) T | 1 | o7s-000r/52 | TABLE SUPRORT FOR SURFACE NOUNT
e o qﬁ q\k A 7 < \ * LETTERING ON SIGNAGE TO INCLUDE UPPER AND o ﬁ—d/\\ 4" 4‘ <f/ 4 PCS. 1/2" X1 1/2 SS CGE BOLT ( 5 ) 2 2 0-78-00-02/5-2 SEAT SUPPORT FOR SURFACE MOUNT
m A T LOWERCASE LETTERS AS SHOWN. NOTE FOR GALVANIZED FINISH: =) o % g Egg 1%" gg E&?I\\INA_S():E(R N(Ug () 7) 3 | 12 0-78-00PL04 P ——
203 + FONT STYLE: CLARENDON MED.ACCT.AKREV.G N T SN . 4 |1 0-78-30PL TABLE TOP ASSEMBLY W/ CKRBD
FRONT ELEVATION - METAL TO BE HOT DIPPED CONCRETE BASE | g a’s = 2 'L\ ATTACH TABLE TOP ASSEMBLY W/ CHECKERBOARD ( 4 ) TO 5 | 4 1-11-042 1/2° X 1 1/2" SS CGE BOLT
*  PARK NAME AND PARK ADDRESS SIGN TO HAVE GALVANIZED. P T
CHROME GREEN LETTERING AND WHITE VINYL /:j R . :/ TABLE SUPPORT FOR SURFACE MOUNT ( 1 ) USING HARDWARE 6 | 24 1-13-016 3/8" X 2" SS BIN SKT HD LAG SCR
BACKGROUND /' T ¢ (5 7 & 8 ). TIGHTEN TO SNUG FIT. 7 1-20-015 1/2" S5 NYLON LOCKNUT
N (X__,_/__ -, 8 1-22-015 1/2" SS FLAT WASHER
. jk N\ XT 9 | 2 1-22-024 3/8" S FLAT WASHER
DIMENSIONS SHOWN ARE IN MILLIMETRES UNLESS OTHERWISE SPECIFIED ) 300
e |~ TITLE :
DIMENSIONS SHOWN ARE IN MILLIMETRES UNLESS OTHERWISE SPECIFIED j NONE GAM E TAB LE AS S E M B LY
The City of Winnipeg @ ) N o
: . .. ; DRAWN BY : AH REV. | DRAWING
DATE:  MAY 2011 Planning, Property and Development Department REviSoN. 2 The City of Winnipeg Q@ DuMo  INC. e NMBER 78 39P| SHEET
SCALE: N.T.S. Pa_rks, Waterways & Commqnlty Initiatives Division Wmmpeg DATE: December 20, 2012 Plann!ng, Property and D_e\(e_lopment Department —~ P.0. Box 142 Mifflintown, PA 17059-0142 |rev. By . Fo J 2 OF 2
\DRAWN By: SP Unit 15 - 30 Fort Street, Winnipeg, MB, R3C 4X5 )
MATERIALS TITLE 16 1/4" SO. ALUMINUM CHECKERBOARD
- CEDAR TONE FINISH -
WHEELCHAIR TACHE STYLE - METAL FINISH - PRIME WITH SCD - 139 .
RUSTOLEUM NO. 769 - -
METAL FRAME PICNIC TABLE FINISH WITH SAPOLIN .
SCD-130A BLACK WROUGHT FINISH ~ 2
| |
\
2440 | T
CORNERS (VP ) | | R
: 4.8mm x 25.4mm x 737mm STRAP FASTENED 1830 or SIZE AS SHOWN ON DRAWING I 7. Y7 6 1/8"| 25 1/4" SQ | 6 1/8" 7Y/ — AL,
\ — WITH No. 10 x 31.7mm R.H. SCREWS & & W 21/2° X 2 X 18 . K
— < ) _ 101.2 3 X 4 (NOM. ) SLATS ST ANGLE _ < .
OPENING AS NOTED 101.2 _
FOR WHEELCHAIR 581 e 102, +—* A L1 T T T 1] ] e
PROVISION/ ONE 38.1 - - - L ) ! o e
SIDE ONLY 229 . - = 13 mm x 50 mm STEEL 1/2° X 11/2° SSIL b RN
- - e e e PLATE CGE. BOLT W/ WASHER ) )
4.8mm x 25.4mm x 216mm j V 05 S1mm SUPPORT o e i ) & NYLON LOCKNUT g{f FILHAI§E N Ce
STRAP FASTENED WITH 3 -omm x 51mm ® o) o] leng— CADMIUM PLATED [ | ' [ | et L .
Il d 1% | Ol
No. 10 x 31.7mm R. H. SCREWS 7 omm x 12.7mm BOLT = = = CARRIAGE BOLTS mm ~~—3/8" X 2" SSIL mr\l __I 12" SQ I__
' ' (114 mm IN LENGTH) BIN. SKT. HD.LAG 7
50 SCR. W/ WASHER S—1_ EMBEDMENT
7.9mm x 38.1mm LAG BOLTS i 20 3/8" THK _—
/2 PER LEG = 38mm x 89mm 7H‘ STL. PLATE 350 X 1/4 W, T 21/ Q. X /4
3/8° X 6" STL. TUBE ——= W. STL. TUBE
51mm x 85.7mm x 9.5mm PLAN VIEW \ STL. BAR
PL WELDED TO FRAME ERONTVIEW " = " " _—lt_ _il__ " O S-2 SURFACE
8" SQ 12 5Q 2=z SURFACE
| a7 CHAMFERED EDGES - (typ) AS SHOWN ABOVE
1270 191 | | 10 mm x 100 mm Ig. SURFACED S SEAT SUPPORT v/ TPBLE SUPPORT (SEE NOTES)
& T 11/16" 9 HOLES
ONED CONM TS s i a a:
50 4
3.2mm x 51mm X 51mm ANGLE RN S & | H
IRON WELDED TO PIPE LEGS /—’* /45 255 13 mm x 50 mm STEEL PLATE 1" :l I*——I 1 1" I*— ——I 1"1
89| 140 13 ol . .
J20 L %7% 9.5 mm THICK STEEL ARMREST L f & 125
3.2mm X 51mm X 51mm ANGLE — Q | r*ﬁ*“;,t* WELDED TO THE STEEL BENCH [l O S—4 SUB FLOOR
S T N N PPORT x 0 S-4 SUB FLOOR x
IRON WELDED TO LEGS > - N N 40 SUPPO | (SEE NOTES)
CADMIUM PLATED CARRIAGE [l

H : 152R N
9.5mm X 51mm SUPPORTS ———— U [ \<_/ g
111 \ j
3

38mm X 89mm BASE I

137 137

9.5mm X 38.1mm FLAT
IRON WELDED

31.7mm |.D. BLACK PIPE
END VIEW

MATERIALS:

WOOD - VERTICAL GRAIN CLEAR SITCA SPRUCE OR B.C. RED CEDAR.

FINISH - SIKKENS CETOL No. 078 NATURAL

METAL - PRIME WITH RUSTOLEUM No. 769. FINISH WITH SAPOLIN BLACK WROUGHT FINISH.

NOTE:

ALL WOOD TO BE FASTENED TO ANGLE IRONS WITH 7.9mm X 38.1mm LAG BOLTS.

ALL DIMENSIONS SHOWN /

ARE IN MILLEMETERS. ~
THE CITY OF WINNIPEG @
Planning,Property and Development Department

DRAWN SV —

DATE JULY/02 Planning and Land Use Division Winni

NOT TO SCALE Unit 15 - 10 Fort Street, Winnipeg, MB, R3C 4X5 mnipeg y

7/2/13

12:12:35 PM Dalhousie_Bid_Opp_Model .vwx

300

SIDE ELEVATION

NOTE: ALL DIMENSIONS SHOWN
ARE IN MILLIMETERS

1:20

DATE : NOV 2007
DRAWN BY: SP

BOLTS (114 mm in LENGTH)

50 mm SQUARE TUBING —————————

FINISHED GRADE ———»

POURED-IN-PLACE CONCRETE

BASE

FRONT ELEVATION

J

THE CITY OF WINNIPEG
Planning,Property and Development Department
Planning and Land Use Division

Unit 15 - 10 Fort Street, Winnipeg, MB, R3C 4X5

Winnipeg

\
©,

J

SLAT OPTIONS

O "CEDAR" RECYCLED PLASTIC
O "GREY” RECYCLED PLASTIC

O "REDWOOD” RECYCLED PLASTIC
0 "WALNUT" RECYCLED PLASTIC
O OTHER

NOTES

1.) ALL STL. MEMBERS COATED W/ ZINC RICH EPOXY THEN
FINISHED W/ POLYESTER POWDER COATING.

2.) 1/2" X 3 3/4" EXPANSION ANCHOR BOLTS PROVIDED

FOR OPTIONS S—-2 AND S-4.

* UPCHARGE APPLIES TO SUPPORT OPTION — CONSULT

YOUR LOCAL REPRESENTATIVE.

A

DPean Spearman

Landscape Architect

This drawing shall not be used for construction unless signed

and sealed by Landscape Architect.

SCALE :

TITLE :

DuMor, inc.

P.0. Box 142 Mifflintown, PA 17059-0142

NONE GAME TABLE
DATE DRAWN : 3/22/94
DRAWN BY : AH REV. DRAWING
o rev oo | | 78-32PL i
REV. BY : RDH

2. Variations and modifications to the work shown will not be
allowed without prior written consent of Landscape Architect.
3. Drawing and Specifications, as instruments of service, are
the property of the Landscape Architect. The copyright is
reserved in the name of the Landscape Architect. No
reproduction may be made without the prior written consent
of the Landscape Architect
4. Contractors/bidders are hereby granted a limited licence to
reproduce these drawings for the purposes of bidding. Such
reproductions are not to be used for construction.
1 7/2/13 | For Bid Opp
No. Date Issue Notes
Consultant
Project Title
Dalhousie Park
205 Killarney Ave.
Winnipeg
Drawing Title H
Details 2

Drawing No.

L-9

of
11




	L-9 [Details 2]
	NorthVP-Details-2


